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1. SR R Rl afdd R % Sewh Af
Sferean : 1x5=5

Find out the correct answer from the following
alternatives in each question :

(a) RIS WS oA TPTR

In nominal scale, values of the variable
are

() A =W /quantitative

(i) U = /zero

(iii) “FEI W /mutually exclusive
(i) €Iaa TBIEWHI/AL of the above
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(b) TGN AT /Y [ooFR @ 25
The sum of absolute deviations about

median is
) zwow
least
(i) &
greatest
(iii) T
zero

(iv) S°”RT gore I
None of the above

(c) T SefeT =T =, =
If skewness is positive, then

() TG <GR < I
mean < median < mode

(i) G >IN > T
mean > median > mode

(iii) WG < TR < 3T
mean < median < mode

(iv) SIRI «Bis 7Ty
None of the above
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(3)

(d) PoEREER D! TS QT IZA T LA

The maximum value of Spearman’s rank
correlation coefficient is

) o
fii) +1
(i) -1
(iv) +3
(e) T ¥oR ¥F INT A SF BI Nwﬁﬁ?m«

R WI T

For two independent attributes A and B
of N individuals, the true statement is

i) N=(A)+()=(B)+@)
(@) N =(AB)+(AB)+(oB) +(af)
(i) (A) =(AB)+(AB)
fiv) SR HBRILHI
All of the above

2. o fMAARY Tew fam - 2x4=8

Answer the following :

(a) FRNRFE W wF afSeds sige B

Define population and sample with
reference to statistics.
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(b) =R BIRFI 7= o o
Define coefficient of variation.

(c) @ BMWF r=0, r=+1, r=-13 Gesq
RUSHEC S

Interpret the values of correlation
coefficient r =0, r = +1, r = ~1.

(d) T &R @SN @ REAN I AT
AR QT W 2

When are two attributes said to be

positively associated and negatively
associated?

3. (a) ARCTRIE O e S SR e
T ? I S Boriom It R R o
IR I ? R @R Ry BE 31 7
W R I R e SPIRA o e SF
2+1+3+3=9
What do you mean by classification and
tabulation of statistical data? What are
the graphs that are used for presenting a
frequency distribution? Discuss each of
them briefly. Also, discuss briefly the

advantages and disadvantages of these
graphs.
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(5)

w1/ Or

(b) “RPIRR TPz R RiST TR B 79
BRE TIATR oA R SRS a1 2+7=9

What are the different types of measuring
scale to measure statistical data? Explain
briefly each of them with suitable
example. '

4. (a) %7 GBR FRW 2T e R T, TROFA |
AR RO MoIR By 0 1 o1 Sref F B
2Rl AR AR @R R & 2 14, 3o
I LT A& 01 ol o oot i
I B TR OLLF B 2+2+2+1+3=10
Explain what you mean by the central
tendency of a distribution. Mention the
measures of central tendency. What are
the properties of an ideal measure of
central tendency? Write the relation
between mean, median and mode.
Discuss briefly the merits and demerits of

them.
s/ Or

(b) Regaq Ieea R T 2 Regaem wageyd Momam &
R 7 Regam ScenReme Mo foove oft comen
o 1 I SR 6% 2 0 /01 29 7
Q@ «b1 wfAfie R o <1 veree 1% Rvem

HHRSLT I WA X R gm '3 A o
2+1+3+4=10
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What do you mean by dispersion? What
are the important measures of dispersion?
Among all the measures of dispersion
which one you consider the best and
why? Explain. Prove that the mean
deviation of a variable about an arbitrary
point is the least, when the point is the
median.

5. (a) O VIR S TR TR N R | gl 4
TR IR TR S Tl RIS facors |
FNF, 4TS AT [0 DT QN 20w
Sferear | 2+4+3=9
Define coefficient of correlation between
two variables. Show that correlation
coefficient is independent of change of
origin and scale. Distinguish between
positive, negative and zero correlations.

S=T/ Or

(b) TR RIS K 141 | (YA ¥, ST 72y

BTSN ST A2 S | G @,

IRTET AT T TR T st

X | TOM TR Q4 R 9w w1 =, wRe
wofan 1 2+2+2+3=9

Define regression coefficients. Show that

the geometric mean of the two regression

coefficients becomes €qual to the correla-

tion coefficient. Show that the regression

equations are affected dque to change of

scale. ]?xplain why there are two lines of
regression.
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6. (a) BT ToFO IR [ 7 BT FOTOR TEHT
forar 1 At A W% B 89 701 To7 W, (508 (ST
@ o IF fS TG TJ 1+2+4=7
What do you mean by independence of
attributes? Write the conditions for
independence of attributes. If two
attributes A and B are independent, then
show that o and B will also be
independent to each other.

%1/ Or

(b) BT IR TR AN BN e fan 1 g
R/ IR Q =177, X T e ficw 2 oy
A -1<0Q<1l 24+2+3=7
Define Yule’s coefficient of association of

attributes. For two attributes Q =1, what
does it indicate? Show that -1 <Q<1.
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( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

1. oo ReErmzd /M o oo o% Sevesr i
Sferaq 1x8=8

Find out the correct answer from the following
alternatives in each question :

(a) TS M NP, T TP
In nominal scale, values of the variables
are

i) IRBF [
quantitative

@ =

zero

(iii) R -
mutually exclusive

(iv) ST ORI

All of the above
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(9)

(b) AT Rewm BRI Py SR 39T
T b (g

The type of graph used for locating mode
value of a frequency distribution is

(c)

20P/237

(i

(@)

(i)

()

Yfars

ogive

foa

line graph
*fi¥foq

pie diagram

2 Iy
multiple bar diagram

S [N SR IR S0 Ry @R

T2 ?

Which of the following is true for all sets
of data?

fi)

(i)

(iti)

(iv)

WA NG < TN < 5579
Arithmetic mean < Median < Mode

B TG > TG > I
Arithmetic mean > Median > Mode
SR T = A = IS
Arithmetic mean = Median = Mode
@I OIS I

None of the above
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(10 )

(d) 2TF T g 2 Gy gy AR a5

Harmonic mean becq

Mmes zero when one
of the items is

N U5 q
negative

(W) 0z

Zero

(@) (i) S (i) JeHTon
Both (i) and (i

(tv) S°{ 9brs 1=y

None of the above

e 2,4, 16 9% 323 BT iy ey

The geometric mean of 2, 4
are

() 2
i) 4
(i) 8

(w} 16

20P/237 ( Continued )



(11)

H TIr>0W, CEFRE
If r >0, then as
i) XFPIamr ya/a
X increases, Y also increases
i) X@WT@A YD
X increases, Y decreases
i) XPITEYHR™D
X decreases, Y increases

(iv)] €T GBS T
None of the above

(g) TR TTE QN r = £1 W, (T3 SRR
werE

When the correlation coefficient r =+1,
then the two regression lines

(i) «oE FerEd e W
are perpendicular to each other

(i) <FRES F

coincide
(iii) I A

are parallel to each other
(iv) SRR

do not exist
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(h) T 81 ASE BT FNFIR @M I @RI
=/, i

Two attributes A and B are said to be
positively associated, if

2 (AB) _(4P) 7 AB) _ (4B
“®<e ® F-g

o (AB) _ (AB) v AB) _(48)
(iii) -(E> ) (i) @ < ®

2. oo faRRe e fa 4x4=16

Answer the following :

(a) 200 SYR b1 EfS BN EaER W e
S 91 IR | 2OF I IR TR
o @3 IR ARA aFS Iq 7 |
TRAR e o0 @R F1wq wife
IRFE! AN 0 TEY 791 2 | @AW

SURE 97T 79
IR TG | IR | WRoAREF I9ame)
— —_ 0-05
— 14 —
— 18 -
15-18 38 —
— — 0-10
- 42 —
- 11 —
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(b)
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(13)

A set of 200 data points was broken up
into 8 classes each of size 3. The
frequency of the values in each class was
determined and the frequency table was
constructed. However, some entries of
the table were lost and part of the
frequency table remains is given below.
Fill in the missing numbers :

Class
interval

Frequency

Relative
frequency

15-18

14
18
38

42

0-05

—_ 11 —_

=01 AR 4 b1 SYRIRT SRR Y W
PTRIGFH 17 AT 33. *[{T8 */3mre ok w2
A3 o1 T (G 26) wre% ¢t '3
I CTEACR LI SR ¢RI '3 | o Tt
SYRIFR SRR T14 I 6 5w 3 273 2

The arithmetic mean and variance of a
set of 10 figures are known to be 17 and
33 respectively. Of the 10 figures, one
figure (i.e., 26) was subsequently found
inaccurate and was weeded out. What
is the resulting arithmetic mean and
standard deviation?
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() m—%mwwmﬁawxw Y3 &1
TR BE Sferear :

X | val
AR 15 15
TGN WG 25 18
TR R @RIREIIR AT | 136 138

X O® Y AR Ao T4 o/ @R RSl
SR AT (TR 122.

From the following data, compute the
correlation coefficient between Xand Y:

X series | Y series
No. of observations 15 15
Arithmetic mean 25 18
Sum of squares of
deviations from mean 136 138

Summation of product of deviations of
X and Y series from respective arithmetic
mean is 122,

(d) =4 T O PO T e IR I
[ ? AW TR N WA T 1 i
JRRRCS (FATI 2P IR 7

What is meant by a class frequency of
first order and third order? How would
you express a class frequency of first
order in terms of class frequencies of
third order?
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3. o R @wcn Bt 2R Teq fam - 7x2=14
Answer any two questions of the following :

(a) ARTRAW Sz cmar Rfw wermz R R
ARAPR 2ACoReC e fa |
What are the different measuring scales
to measure statistical data? Define each
of them with suitable example.

() Rfea @R Py swprz R R 2 79 9%
M S I S I R ol
AP Bo| W o |
What are the different types of statistical

_ data? Distinguish between primary data
and secondary data. Mention some
sources of secondary data.

fc) RIRF o TomFT IR I]WIT @RI
BIRGl TR I B ¥ WE R @A OR
ARe™ 3 faa o
Name four different graphs used for
presenting statistical data and discuss
one of them in detail.

4, o7 R I o 2R TeT faan 9x2=18
Answer any two questions of the following :

(o) Rew1d T 2 ReworR s e smafee
TP AN EEY T 1 300 aF ARin-
RS (IR 7531 14 (R 45, TR S 751
¢ 100 & Q&R 7999 T4 70 WE TR FOR
100 &9 7999 NI¥ 20. wRME 100 & g’
R T M, Sferear |
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What is dispersion? Name its absolute
and relative measures. The mean marks
obtained by 300 students in the subject
Statistics is 45. The mean of the top 100
of them was found to be 70 and the
mean of the last 100 was known to be 20.

What is the mean of the remaining
100 students?

(b) CTRAF (FEY S vice forgr | Ry Sy
CTR ST TS 4 3] | S By 90
IR 36T 29w RGN o ey e
2o, TR o 8 Ry wrgef T S -
Define raw and central moments,
Express central moments in terms of raw
moments. Find the first, second and third
central moments from the following
values of first three raw moments
obtained from a frequency distribution :

i =-0-22,pn5 =1.34,p4 = -0.58

(c) B IFARC! IGA WA wF T T
carr RfEA Az M 1 1 Ee 36w
oA SRS ST @ txez 0-6. TR
% % Nl 59YF A 100 T WF yamR
T 38 W, (SR 5 F Ay vpdem T
e |
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Explain the methods of measuring
skewness and kurtosis of a frequency
distribution. In a frequency distribution,
the coefficient of skewness based upon
the quartiles is 0-6. If the sum of the
upper and lower quartiles is 100 and the
median is 38, then find the values of the
upper and the lower quartiles.

5. TR R QWA Yot o3 ey faan - 7x2=14
Answer any two questions of the following :

(a) Fe PR DT BIII SRR 771 | (s
@, TR BN TRY OF T ARISH
fAeors |
Define Karl Pearson’s coefficient of
correlation. Show that correlation
coefficient is independent of change
of origin and scale.

(b) °F TR G AR 01 S |
TAd A5 «BiR TA& AR IS (o1 IR oW
TATE BNLT (7 0-8. ;M /% 5F] 91 AsrFe
33 @, (TR (MHHS P TR WM
et |
Derive the formula for Spearman’s rank
correlation coefficient. The coefficient of
rank correlation between the marks in
English and Mathematics obtained by a
certain group of students is 0-8. If the
sum of the squares of the difference in
ranks is given to be 33, find the number
of students in the group.
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(c) T TRA OWRRI @ R (TR
3x+2y-26=0 ¥ 6x+y-31=0. y3
SIS X HIF xT SFO y I AR SR IR
Refa 1 1 x == y 3 00, 1 TR @NF rE
X 9% yI T DT BT e |
Two variables have the regression lines
with equations 3x+2y-26=0 and
6x+y-31=0. Determine the regression
lines of y on x and x on Y. Find the
mean values, two regression coefficients

and the correlation coefficients between
xand y.

6. (o) BR FoFI P & W2 B8R Foger

P11 3 A % B @7 1 yor =, corz'te
O A o TF fe T 7| . 2+3+5=10
What do you mean by independence

of attributes? Write the conditions for
independence of attributes. If two
attributes A and B are independent, then
show that o« and B will also be
independent to each other.

<1/ Or

(b) 1 @1 CHI R TN O 4T TN
T To AN BIEF F S IR e
o1 | SN BNF Q AT ST QAT Y'Y
IR RS T Tem 40

2Y

T1+Y2

3+3+4=10
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When are two attributes said to be
positively associated and negatively
associated? Define Yule’s coefficient of
association and the coefficient of
colligation. Establish the following
relation between coefficient of associa-
tion Q and the coefficient of colligation Y:

2Y

T 1+Y?

% %k

1 SEM TDC STS G 1 (N/O)




